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Foundations and Pre-Calculus 10

5. Jennifer’s painting business is hired to paint the exterior of a house. She estimates that
the cost of paint will be $300 and she will need to pay two workers $16.50/h for 12
hours each. She wants to keep at least $600.00 for her business. What should she
charge the client?

rﬁ\ ,@ OO +
tesp + Wovkers

22U AJ_W ﬂN\\F\ +AN1U o0 = ww.v 2 QJW
—+ \U\.\A\Z\_*

6. Restaurant sales totaled $65 575.00 one month, and the average tip was 18%.

a) How much would each of the five waiters make in tips if they shared equally?
fﬁﬁv uwvm fnu = %MWFOUC
S \Vﬁr\r\\\o\ﬂ

b)  If they give 20% of their tips to the kitchen staff, how much will each waiter make?
L means jeop SO/

672360, - 0.& = $£/1808.56

7. Regular hours for a shop are 9:30 am to 5:30 pm, Monday to Friday. Workers earn a
shift premium of $2.25/hour for any hours worked after 5:30 pm or on Saturday. Last
week, Denise worked Em following hours:

Monday: 11:30 am—7:30 pm v+ Tuesday: 2:00 pm—10:00 pm 2.5+ 4 4
Wednesday: 2:00 pm-7:00 pm ? ) + 3 Thursday: 12:00 pm—8:00 pm = .S+ 2.<
Saturday: 9:30 am-3:00 pm /)4 m.w\

If her regular pay was $14.25/h, how much did she earn last week?

.\«__r\\mw TJ\\R*\VH \nt\ J\ \\ TAEL (e A VS - i 7

\E / :\Qw?\mm\\\rvf \T}\WW\T 1W\ \J
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8.  Alycia’s before-tax deductions amounted to $125.25 on a gross salary of $1200.00. If
she paid $193.46 in federal tax, what is her tax Sﬁmu o

\Uﬁm\.\m\ \QX \bg wﬁ 200 t\wv / = :Mmu_‘\,.iﬂvtr\.\w .v.\

Mwwwsxw O.l§= )&%
\,g.\

9. Eric has a gross income of $1150.00 per week. His before-tax deductions include union
dues of 2.8% of his gross income and a pension plan contribution of 7.5%. His federal
tax rate is 17.5% and his provincial tax rate is 6.2%. He pays 4.95% to the CPP and
1.8% for EL. Calculate his net income. (AT A LS fon 1%
e i f - ) y RS /,, = .b_ﬁ, F.F\m\
Pedore Tax Dedwctions - -AISO ( (DOLE 4 0. 0% ) BIIEAS

i,

%

Taxable Incone= P (150 —11¥. Y5 =cbro3r.3 _
_ 95+ 0.01S )

TRXES- % /031 ﬁ\mv 19S5 + 0. 062 4+ 0.0%

I~

Net = 11SO— 118YS 3141 = FH 2SS



